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BE 0 0 0
TRENEEE 40,065,472 40,270,380 -204,908]-0.51
BEROERS 34,358,802 34,394,168 -35,366(-0.10
FEUTERIE 697,871 675,495 22,376(3.31
T8 4,895,000 1,253,816 3,641,184]290.41
HitUREhEE 113,799 3,946,901 -3,833,102(-97.12
BEREES 94,437,941 89,873,493 4,564 ,448(5.08
SR IR 64,437,941 59,873,493 4,564 ,448|7.62
S 30,000,000 30,000,000 0[0.00
=& 30,000,000 30,000,000 0[0.00
BEMEREE 0 0 0|-
TEIE ~ BB Rk 256,838 513,675 -256,837]-50.00
HIEsks 256,838 513,675 -256,837]-50.00
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EEFTEREE 0 0 0]-
HigE 1,441,297 1,359,011 82,28616.05
HESE 1,441,297 1,359,011 82,286(6.05
BEA 136,201,548 132,016,559 4,184,989(3.17
=4 0 0 0
TRENE (& 778,371 941,968 -163,597(-17.37
JFE(FEE 778,371 931,968 -153,597(-16.48
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EHEE 0 0 0]-
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HE 0 0 0
& 60,223,093 60,223,093 0[0.00
®& 60,223,093 60,223,093 0[0.00
Bl 30,000,000 30,000,000 0[0.00
g 30,223,093 30,223,093 0[0.00
NE 0 0 0]-
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B s Gakan) 75,200,084 70,851,498 4,348.,586(6.14
SR EEMIEE 0 0 0l-
FEEE 135,423,177 131,074,591 4,348,586(3.32
SERFESS 136,201,548 132,016,559 4,184,989(3.17
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